3 XZ N ).<: (X
b x- (7)), 0= <-0;Mx,> - x= )
t
g(»t)ds ~t
2. (&) Jdegeating focter M- € - €
+ + t
- i(e x) = 2te e =2te
t
t
> ci)(pc) > g,ZsE’fOLS
0 o)
t 0 5 t : 3
=> e; x({-)-e: x(O) = 2s € - §i€ ds
C— o e
=|
t+ 0 s ¢
= ke -20e - Qe
. Ate -2ef 42
_t t t

> e XltE) = At e -2¢ +3

24 £
> X(t) = Ate —.’Lezl 4—36JC

(B) tx +4ax = ot 4

> X +;x;{—l+{l
t

Tdograding Yador: M = ¢ = ¢ -


Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel


1 \ !
= L(t -3‘E +2
TR R
= CYUC): TLJC<:L7JC +‘Z’|‘t +

- €
k) £ .
o> (Erde = (e -¢ )ds
x(0) o
x(L) o s t
= 67(-\' X = - 6 -e
Y(O) ©
-t
= 3)(&:) 4L - 3-2 = - ¢
€ -t
5 i)+ 3Kl v € re =7

S —
_3+ \(3- 8(e +e -7
=> X(t) = 33 \a’ )

4

4
‘\)m )(LO) — 3+ \3 in 465 B} '\3
4 T
%ﬂc X(O)?l) nagd. to K oome 4-08&%7
3, (a) L=XY
= U= xy x&

by «x(xg-8)
x4 (x-g) = VL 6‘8)

Vlt)
> ) - Swds

=
- 0o

\l

ult
SIC )

¢



Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel


t
é(x-b)cle
2 ok) = VO e

>0
> X olo) £0, o) >0 ¥V 20

fo At x (t)  nov aUc) Carn cgwwafl 06&\

(&) \'/=>'<+a S ox-xy g -y = Xy

S v v ¢ Xy >0
vio +

= g % < S | ds
V(o) 0

= v oot

- V(o)

t
> Vi) ¢ V0 e

\go v k) Cannct How up im gww&, towe -

() 0«¢ @-@)2 - -6+ b
= ldab ¢ o+ @l
gt a= X , @'=J—’S ) W= 'X& X>0’6<0

= \JG:Q,@QTSO.%+QTZ=X—6 /\
\ 2

Uows w:—)ké—a;( = ‘-Xé (x_é) _ W(X—a) s 2w?

wik)
2 Lwit)
= g\/\J_LoUJ s 2t > -—auw” s > 2 2 o
\|wio) wlt)
wlo) wlo)

\ | il Uon wp Lot

= — s K ¢ \
wlk) Wl L
W) q,u-&y\m t \,J(o)

N

)
f_'_
Y
€
fre
N
WV


Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel

Marcel


